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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
—&— PHC
11 4 —@— PHI
10 +
9_
8_
74 Warning: col ["FVIPH ] is missing
@ L 4 L 4 L 4 4 L 4 4 @ 4 L 4 4 L 4 @ L 4 @ L 4 @ @ ®
5 10 15 20 25




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-3

BflE) | VEBRMK@E) | ERE(EH/N | EREE (/R [ XS R

06:55 136 80.0 1.728 =|  FHR@06:55 KREIEF (REEESE)
07:40 136 80.0 1.728 5| THR@07:40 KREINFERF (RATREE)
08:40 136 80.0 1.728 5| FHEAQ08:40 KENFEF (GkAA{EEIEE
09:35 136 80.0 1.728 5|  THAe09:35 KREIEF CRAFERES)
10:20 136 80.0 1.728 5| THR@10:20 REINFERF (CRATREE)
11:00 136 80.0 1.728 5| THAe11:00 KRHEF (CRRAERS)
11:40 136 80.0 1.728 = FHRe11:40 REEF CGREAERSE)
12:20 136 80.0 1.728 S| FiHRe12:20 REEFE CGREERSE)
13:00 136 80.0 1.728 5| FEAe13:00 KEIEFE CGRAFEESE)
13:40 136 80.0 1.728 5|  TiHAe13:40 KRFEF RAEHES)
14:20 136 80.0 1.728 = FiHR014:20 REEFE CGREERSE)
15:00 136 80.0 1.728 5| FEAe15:00 KEIEFE CGRAMFESE)
15:45 136 80.0 1.728 5| FiHRe15:45 RHEFE CGREAERSE)
16:40 136 80.0 1.728 5| THA@16:40 KENFEF CGRAEEESE)
23t 1904.0 (14)%) 1120.0 32 HKEC: 2700.0, PH: 6.5

BEREBIPH (10.52) 5i8%EPH (6.5) IREWR K, BT
FEREBPH (10.52) 5FPH (6.5) REKK, FHE
[B;&%EC 3832.0 K&, EiFHKECAE&MEER

H#E[ERECE (2698. 0 vs 3832.0) R
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G3-3_0, Day=27 (2025-06-08)
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G3-3

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R
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06:50 140 80.0 1.728 E 1BRi&e06:50 Bzl (RAEREE)
07:35 140 80.0 1.728 = {BRi8@07:35 B (FRFAEEE)
08:20 140 80.0 1.728 = {RRiB008:20 B (FRFAEEE)
09:25 140 80.0 1.728 5| {Rig@09:25 B3 (KRAERSE)
10:30 140 80.0 1.728 5 {Ri%@10:30 B3 (RAERSE)
11:25 140 80.0 1.728 =l {Rige11:25 B3 (GRAERSE)
12:30 140 80.0 1.728 S {Ri%e12:30 B3 (RAERSE)
13:25 140 80.0 1.728 E| {Rige13:25 Bzl (RE{ERSE)
14:05 140 80.0 1.728 E BRige14:05 Bz CGRAERESE)
14:50 140 80.0 1.728 S| {Rige14:50 B3 (REAERSE)
15:30 140 80.0 1.728 E BRi%e15:30 Bz (GRAERERE)
16:10 140 80.0 1.728 F[ BRige16:10 Bz (CGRAERE)
16:50 140 80.0 1.728 =l {Ri%016:50 B3 (RAERSE)
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G3-3_0, Day=26 (2025-06-07)
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G3-3

BrE) | GEBAK(F) | ERE(EH/R) | EREE (G/R) [ XS R

06:05 138 80.0 1.728 F|  {Ri%006:05 Bzh (RF{ESE
06:40 138 80.0 1.728 F BRi%e06:40 B (GRAERSE)
07:15 138 80.0 1.728 S| {Rige07:15 Bz (RAERSE)
07:50 138 80.0 1.728 E  BRi&e07:50 Bz (GREERSE)
08:30 138 80.0 1.728 5| 1Rike08:30 Bz (KRFIEES)
09:15 138 80.0 1.728 = {Ri%@09:15 Bz (RAERSE)
10:10 138 80.0 1.728 E BRige10:10 Bz (GRAERESE)
11:00 138 80.0 1.728 =l Rig011:00 Bah (RAEESE)
11:45 138 80.0 1.728 = {Rige11:45 B3 (GRAERSE)
12:40 138 80.0 1.728 E BRige12:40 Bz CGRAERESE)
13:25 138 80.0 1.728 5| {Ri%e13:25 B3 (RAERSE)
14:00 138 80.0 1.728 = RRiB014:00 Bz (RFAEEE)
14:40 138 80.0 1.728 E BRige14:40 Bz CGRAEESE)
15:15 138 80.0 1.728 El BRi&e15:15 Bz GRAEREEE)
15:50 138 80.0 1.728 = RRiB015:50 B (RFAEESE)
16:25 138 80.0 1.728 S| {Ri%016:25 B (RAERSE)
17:05 138 80.0 1.728 El BRi&e17:05 Bz GRAEREE)
2it] 2346.0 (170%) 1360. 0 EWUHKEC: 2700.0, PH: 6.5

EREB AR IRIE LI (300 vs 138.0))

FRINKPREBE174.0 ml.

large discrepency for begining water status (220:54.0), set to 220 ml
REXEBIPH (10.53) H5i&%EPH (6.5) RER KA, HFIRE

REXJEBIPH (10.53) 5FMPH (6.5) RERK, FHRE

ERGEBIEC (2844.0) SHEEIEIN (2340.0) RERK, BHWE.

LRGEBPH (10.4) 5igEE (6.3) REKK, BHRE.

LERGEBIPH (10.4) S5iREEY (6.5) RERK, HRE.
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G3-3

BflE) | GEBRAK @) | ERE(EH/N | EREE (G/R) [ XS R

07:05 138 80.0 1.728 F[ BRi%e07:05 Bz (RAERSE)
07:45 138 80.0 1.728 = {RRiB007:45 Bz (REAKEE)
08:40 138 80.0 1.728 (2 x| {Ri%008:40 BE1 (KRR
09:20 138 80.0 1.728 FH| 1BRi&@09:20 B3zh (RAEREIZE)
10:00 138 80.0 1.728 FE| 1Ri%@10:00 Bz (REAERESE)
10:40 138 80.0 1.728 FH| 1RRi%@10:40 Bz (RFAERSE)
11:15 138 80.0 1.728 FE| {Ri&e11:15 Bz CGRAEEE)
11:55 138 80.0 1.728 FR| 1Bi%@11:55 B3h (kAEREE)
12:30 138 80.0 1.728 FA| 1B2i%@12:30 B3h (RA{ERESE)
13:10 138 80.0 1.728 |Z=| 1BRige13:10 Bzh (REERSE)
13:45 138 80.0 1.728 | =| 1BRi%e13:45 Bz (kAEREEE)
14:20 138 80.0 1.728 | =| 1Ri%e14:20 B (GRAHERESE)
15:10 138 80.0 1.728 | =| 1Bi%e15:10 Bz (kAHEREE)
16:10 138 80.0 1.728 |2 =| 1BRi%e16:10 Bz (kAEREEE)
17:05 138 80.0 1.728 | =| 1BRige17:05 Bzh (GkAEREE)
2it+] 2070.0 (15)%) 1200. 0 3203 KEC: 2700.0, PH: 6.5

EREERTIREETER K (0.62 vs 0.56)), AJEEA S IAEESEIERK
ZRIASERRIERES0. 0 ml.

FERZERPH (10.54) 5i&5EPH (6.5) REK K, BT

BEXRERIPH (10.54) 5FMPH (6.5) REK K, HRE

LRGERIEC (2903.0) S5iREVEY (2340.0) REK KX, BHRE.
FURGEBIPH (10.5) 58 EE (6.5) REK K, BT,

LORGEEBIPH (10.5) S5#EAGE (6.5) RERK K, BRE.
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G3-3

BYiE) | GEBATK (RY) | EHRE (EAH/K) | ERERE (B/R) | XS ERE

06:30 136 80.0 1.728 5| {Ri%@06:30 B3 (KRAMERSE)
07:05 136 80.0 1.728 F|  {Ri%@07:05 Bah (RF{ESE
07:50 136 80.0 1.728 F[  BRi1%e07:50 Ba1 (GRAERSE)
08:35 136 80.0 1.728 5| {Rig@08:35 B (KRAMERSE)
09:10 136 80.0 1.728 E[ BRi%e09:10 Bz (GRAERSE)
09:40 136 80.0 1.728 F[ BRi%e09:40 BE1 (GRAERE)
10:10 136 80.0 1.728 =l {Ri%e10:10 B3 (GRAERSE)
10:40 136 80.0 1.728 E BRi%e10:40 Bz CGRAERESE)
11:10 136 80.0 1.728 =l Rige11:10 B3h (GRAEESE)
11:40 136 80.0 1.728 5| Rike11:40 Bz (REERS)
12:15 136 80.0 1.728 E BRige12:15 Bz CGRAERESE)
13:00 136 80.0 1.728 5| {Ri%e13:00 B3 (RAERSE)
13:45 136 80.0 1.728 = RRiB013:45 B (RFAEESE)
14:20 136 80.0 1.728 E BRige14:20 Bz CGRAEREE)
14:55 136 80.0 1.728 5| {Ri%e14:55 B3 (RAERSE)
15:30 136 80.0 1.728 =l RRiB015:30 B (RFAEESE)
16:05 136 80.0 1.728 S {Ri%016:05 B3 (KRAERSE)
16:45 136 80.0 1.728 El BRi&e16:45 Bz CGRAEREE)
17:30 136 80.0 1.728 F BRige17:30 Bz CGRAERSE)
2it] 2584.0 (190%) 1520.0 3ZHKEC: 2700.0, PH: 6.5

REXRERIPH (10.84) 5i8EPH (6.5) IREW K, BT
FERERIPH (10.84) 5FPH (6.5 REKK, FHE
LRGEBIEC (2746.0) 51REVEY (2340.0) RERK K, BHEE.
LORGEBIPH (10.4) 5i1&EE (6.5) wERK, BRE.
LORGEBIPH (10.4) S5#AE (6.5) REHKK, BHRE.
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